normalized x?

Entries 1748
0.94
1.406

Std Dev.

[[normalized x? probability ]

0.03f-
0.025
0.02
0.015
0.01f----

B . " . : i .| Mean 0.5849
0.04 r e o Lsdbey 0.301:

0.035

Entries 1748

9 2 4 6 8 10 12 14 16 18 20
X2

0'1) 0102030405060.70809 1
Prob(x?)

—_—
DQM_V0001_R000000001__Global__CMSSW_X_Y_Z_RECO

A2 > 5
£ I X -
e} I =
2 [
— 1.8F- /\)_
b N o
> L <
v 1.6 o

F )

\

o ;
T :
o :
(ot o R s R R
0. i 0. . i . . i
=3 -2 -1 0 1 2 3 23 -2 -1 0 1 2 3
n TP n (PCA to beamline)
N 2.5 - A
5 [ : £
c L . c
< 2:— """" bl R i .‘: """ me e <
v L v
if .
o l Il J °
g g
v @
095 === s s e e
‘o 1 1I0 162 0? 10 — 102 10
F}T AR(track, jetg)
g
A
.
2
Q)—
L}
\2
o ;
I :
@ .
0.95/ SR - =<~ %<t EEERREEEE
107 1 10 10% 0?
B



	Contents
	Page 1


